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Example 1: Evaluate trig ratios given a point.

Let (-12, 5) be a point on the terminal side of an angle 6 in
standard position. Evaluate the 6 trig ratios of 6.
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Example 2: Find a trig ratio given a trig ratio.

Find sin 8 when cos 6 =2 and the terminal side of 0 lies in

Quadrant Il. :
=2 &y
5 cos B I3 & hyp
"3? .
& (-5\“ ™ sSinb= opfP
3 é 5=l hjp
Y I o=/ : 2
] o= 12 5lf\6= ™

Example 3: Find a trig ratio given a trig ratic.

sin 6 =-§ and 0 is in Quadrant IV. Find tan®.
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Example 4: Find the quadrant of an angle.

State the quadrant in which 8 lies.
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